911 "7 '0n K,0 2°noD .7"'02

— NN T 1T ATV 02 N
Rabi Yehudoh returned and used a different logic

OVERVIEW

After the o°nom rejected his 1"'p (through which >"3 wished to derive that o921 ynan is
19°7w1), °"7 offered four different types of 11°¥n 71 to derive 79°7w 21 by y1n from
an11. The ®7n3 uses the phrase AR P7 137 °"1 211 (by the first one' and) by the last
one. MOOIN explains why it was used only by the last one but not by the previous
two.”

Moo responds to an anticipated difficulty:’
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The reason the X723 now refers to this fourth 1°¥» 7 as a "™nX 197', more than

the previous two, is as -
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The R''2"9 states because now it is not necessary to mention the previous
similarities of 7RI 79IOKR MR and N> WY -
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But rather with the similarity of y°nn %2 alone, "2 can derive 79°7W by ynn
from 2011, since this similarity is not found by all the others mentioned previously (i.e.
DPOIT W YW 1271 ,%P01T W ,77°2)).

SUMMARY
In the final 12°¥n 71, there is no need for the previous similarities; only 17°nn 2.

THINKING IT OVER

Why was it necessary in the previous two n"7 to mention the previous similarity;
by X317 MR why mention 77°2X MO°X; by N1 W1y why mention ARIM 77°28 MOK;
just like by 17°nin 92 where he does not mention N7 WYY IRIT 72798 NOK?!

"t is understood why the X723 uses the phrase X 1°7 13T *"1 711 by the first 1% 7, for this is a departure from the
previous 17, which was through a 1"p. However, since he did not use the phrase for the second and third n"n, why
use it for the fourth (and final) n"n.

? The similarity between y»m and 7 in the first 2", was 72798 MOK; in the second n"n, it was XIT 727K MO°K; in
the third N7 WY AR 79798 N0°K; in the fourth 19°mn 2.

? See footnotes # 1&2.
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